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P2617 [Total No. of Pages : 4
[4804]-1001
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1001 : Micro Economic Analysis - I
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all question.
2)  Figures to the right indicate full marks.
3) Answer each question in 250 words.

4) Answer should be precise and to the point.

Q1) Explain the functioning of price Mechanism in the market economy. [10]
OR
Explain the cardinal and ordinal utility approach. [10]

Q2) What is Index? Explain the various problems involved in construction of
index numbers. [10]

OR

Explain the concept of price elasticity of demand. How is it measured? [10]

03) Explain the Revealed preference theory. [10]
OR
Explain the cobb-Douglas production function. [10]

PTO.



04) Explain the difference types of cost concept. [10]

OR

What is producers equilibrium? Show it with the help of diagram. [10]

05) What are the problems of measurement of social welfare? [10]
OR

What are average, marginal and total revenue? Explain the concepts with the
help of curves. [10]
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[4804]-1001
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1001 : Micro Economic Analysis - I
(2013 Pattern) (Credit System)
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[4804]-1002
M.A. (Part - I) (Semester - I)
ECONOMICS
EC -1002 : Public Economics - I
(2013 Pattern) (Credit System) (Compulsory)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Answer in 250 words each.

Q1) “Govt. as an agent for economic planning and development” discuss. [10]

OR

Explain the benefit approach of Taxation. [10]

02) Explain the problems of double taxation. [10]
OR

Explain in detail the concept of zero base budgeting. [10]

03) Explain the pure theory of public expenditure. [10]
OR

Explain the theory of club goods. [10]

PTO.



04) Explain the wagner’s law of increasing state activities. [10]

OR

Explain in detail the concept of shifting of tax Burden. [10]

035) State and explain the structure of public expenditure. [10]
OR

Explain the voluntary exchange models. [10]
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[4804]-1002
M.A. (Part - I) (Semester - I)
ECONOMICS
EC -1002 : Public Economics - I
(2013 Pattern) (Credit System) (Compulsory)
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[4804]-1003
M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1003 : International Economics Trade

(2013 Pattern) (Compulsory) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain the comparative cost theory with the help of Ricardo’s model. [10]
OR

Explain the concept of Terms of Trade and discuss in detail the types of
Terms of Trade.

02) Critically examine Neo-Heckescher online theorem. [10]
OR

Explain the arguments for and against free trade policy.

03) Explain the effects of Tariffs. [10]
OR

Explain the effects of WTO on Indian economy

PTO.



04) What is Intra-Industry Trade? Explain the factors determine Intra-Industry
Trade. [10]

OR

What are the factors affecting Terms of Trade.

035) Discuss major development in W.T.O. agreement since 1995. [10]
OR

Explain the composition of the Global Trade Growth.

[4804] - 1003 -2-
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[4804]-1003
M.A. (Part - I) (Semester - I)
ECONOMICS
EC -1003 : International Economics Trade

(2013 Pattern) (Compulsory) (Credit System)
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[4804]-1004(A)
ML.A. (Part - I) (Semester - I) (Optional) (Credit System)
ECONOMICS

EC-1004 : Indian Economics Policy
(2013 Pattern) (Non Core Course)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.
4) Answer in 250 words each.

Q1) Explain the trends of National Income since 1991. [10]

OR

Discuss the nature of poverty in Indian Economy.

02) Explain the problems of Agricultural marketing. [10]
OR

Discuss the concept of Globalisation of the Economy.

03) Explain the role of Public Sector in Indian Economy. [10]
OR

Elaborate the problems of Health System in India.

PTO.



04) Discuss the problems of Financing Infra stucture Development in India. [10]
OR

Evaluate the monetary policy of R.B.I. since 1991.

05) Explain the characteristics of Indian Industrial sector in Pre-reform period.[10]
OR

Explain the problems of India’s Industrial Export.
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[4804]-1004(A)

M.A. (Part - I) (Semester - I) (Optional) (Credit System)

ECONOMICS
EC-1004 : Indian Economics Policy
(2013 Pattern) (Non Core Course)
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[4804]-1004(B)
M.A. (Part - I) (Semester - I)

ECONOMICS
EC-1005: Labour Economics

(2013 Pattern) (Credit System) (Optional)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer in 250 words each.

Q1) Explain the importance and scope of Labour Economics. [10]

OR

‘Migration of Labour’ is harmful to industries but inevitable in India, comment.

02) Critically examine marginal productivity theory of wage determination. Is it
really applicable in labour market. [10]

OR

Explain the structure and achievements of labour unions in india.

03) Explain the term ‘Labour turn-over’. What are the causes of low labour turn-over in
India. [10]

OR

Explain the concept of minimum wage and fair wage.

PTO.



04) What are the causes of Industrial disputes? [10]
OR

Discuss the recent trends in child labour policy in India.

05) Explain the characteristics of Indian labour market. [10]
OR

What are the Recommendations of second national commission on labour.
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ECONOMICS
EC -1005 : Labour Economics
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P2622 [Total No. of Pages : 3
[4804]-1004C

M.A. (Part - I) (Semester - I)
ECONOMICS
ECO -1006 : Mathematical Economics

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answers should be precise and to the point.

4) Draw neat diagrams wherever necessary.

5)  Use of nonscientific calculator is allowed.

Q1) Answer the following question. (Any one) [10]

a) Solve:
) 3x—4=+2x—2x"+2

i) x2_-8x—48=0
OR

b) Find the marginal utility with respect to two commodities x, and x,,
when x, =1 and x,= 2 units of the two commodities are consumed and
if the utility function x, and x, is given by

U=(x,4+3)(x,+5)

02) Answer the following question. (Any one) [10]

a) Ifthe total cost is given by TC = (3 2x?)* where x is level of output. Find
the marginal cost.

OR

b) A firm has a current stock of machines worth Rs. 10 million and over the
next 2 years, the investment function will be I(t) = 5t + 0.3t> — 0.002t°.
Find out the total machine stock value after 2 years.

PTO.



03) Answer the following question. (Any one) [10]

a)

b)

4 16

Given the demand function X1 = —2_—and X2 = 7 find the four
P, P, p,P,

partial elasticities of demand.
OR

The following matrix represents the results of the examination of B.Com.
Class:

1 2 3 4
5 6 7 8
9 10 11 12

The rows represent the three sections of the class the first three columns
represent the number of students securing 1%, 2™, 3 divisions
respectively in that order and 4™ column represents the number of students
who failed in the examination.

i)  How many students passed in three sections respectively?
i) How many students failed in three sections respectively?

i) Write down the matrix in which number of successful students
shown.

iv)  Write down the column matrix where only failed students are shown.

v)  Write down the column matrix showing students in the first division
from three sections.

04) Answer the following question. (Any one) [10]

a)

A firm produces two products, A and B. The specific amount of material,
labour and equipment required to producelunit of each product and
availability of each of these resources are shown below.

Items A B [ Availability
Labour (Man Hours) 3.00 | 2.00 12.00
Equipments (Machine hours) 1.00 | 2.30 6.90
Material (Suitable units) 1.00 | 1.40 4.90

[4804]-1004C 2



Express the above information as linear inequalities. Draw the graph and
indicate the feasible region.

OR
b) Find the points of maxima or minima of the function
Ax) = x—6x* +12x—8
05) Answer the following question. (Any one) [10]

1
a) The total cost function of a firm is ¢ = §x3 —5x> +28x+10

Where c is total cost and x is output. A tax at the rate Rs. 2 per unit
output is imposed and the producer adds to his cost. If the markets
demand function is given by p =2530 — 5x. Where Rs. p is price per unit
of output. Find the profit maximizing output and price.

OR
b) Find the values of x, y, z.
x+2y+3z=11I
2x + 4y + 5z=21
3x + S5y +6z=27

[4804]-1004C 3
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P2623 [Total No. of Pages : 4
[4804]-2001
ML.A. (Part - I) (Semester - II)
ECONOMICS
EC -2001 : Micro Economic Analysis - 11
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answers should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain the basic features of perfect competition market. [10]
OR
“Long - run equilibrium in perfect competition is always with normal profits.”
Elaborate.
Q2) Discuss in details the types of price discrimination in Monopoly. [10]

OR

What is Monopoly power? How it is regulated?

03) Compare the features of the monopolistic competition with perfect competition
and monopoly markets. [10]

OR

Explain the structure and types of the oligopoly market.

PTO.



04) What is Game Theory? Illustrate with suitable example. [10]

OR

Explain Baumol’s Sales Revenue Maximisation Model.

05) Discuss the Marginal productivity theory with its assumptions and criticism.
[10]

OR

Explain Piguo’s welfare theorem.
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M.A. (Part - I) (Semester - II)
ECONOMICS
EC -2001 : Micro Economic Analysis - 11

(2013 Pattern) (Credit System)
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[4804]-2002
M.A. (Part - I) (Semester - II) (Credit System)
ECONOMICS
EC-2002 : Public Economics - 11
(2013 Pattern) (Compulsory)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain in detail the classical and modern view of public debt.

OR

Explain the principles of management and repayment of public debt.

02) Explain the Economic classification of Budget.

OR

Explain the trends in expenditure of union Government since - 1991.

03) Explain the criteria for transfer of fiscal resources from union to state.

OR

[10]

[10]

[10]

Explain the problem of Vertical and Horizontal imbalance Federal Finance in

India.

PTO.



04) State and explain in details the sources of revenues of the union. [10]
OR

Discuss the Reforms in Direct and Indirect Taxes.

05) Discuss the burden of public debt on Indian Economy. [10]
OR

Explain the nature and importance of automatic stabilizers of Fiscal policy.
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[4804]-2002

M.A. (Part - I) (Semester - II) (Credit System)

ECONOMICS
EC -2002 : Public Economics - I
(2013 Pattern) (Compulsory)
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[4804]-2003
ML.A. (Part - I) (Semester - II) (Credit System)
ECONOMICS

EC-2003 : International Finance
(2013 Pattern) (Compulsory)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) What is Meant by disequilibrium in balance of payment? Explain the measures
used to correct disequilibrium in balance of payment. [10]

OR

Discuss the background of devaluation of Rupee in 1966. Evaluate its success.
[10]

02) Explain in detail the advantages of current and capital account convertibility
of Rupee. [10]

OR

Discuss the merits and demerits of flexible exchnage rate. [10]

03) Give abriefaccount of growth and dispersion of FDI in India since 1991.[10]
OR

Explain in brief classification of international capital flows. [10]

PTO.



04) Explain the factors responsible for rapid growth of International Banks after

1950. [10]
OR

Explain the features and growth of Euro-currency market. [10]

05) Explain the objectives and functions of [.LM.F. [10]
OR

Explain the performance of Asian Development Bank since 1991. [10]
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Total No. of Questions : 5]

P2625

[4804]-2003

ML.A. (Part - I) (Semester - II) (Credit System)

ECONOMICS
EC-2003 : International Finance
(2013 Pattern) (Compulsory)
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[10]
e

JUAAT FTRIA AT ATV TG T T [10]
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[4804]-2004A
M.A. (Part - I) (Semester - II)

ECONOMICS (Credit System)
EC -2004 : Agricultural Economics (Optional)
(2013 Pattern) (Non-Core Courses)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1)  All questions are compoulsory.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer in 250 words each.

Q1) Describe the problems of agricultural marketing in India. [10]
OR

Explain the problems of Agricultural Labour.

02) Describe the role of agriculture in Indian economy. [10]
OR

Explain the present status of organic farming.
03) Explain the role of NABARD in agricultural credit. [10]

OR

Discribe the food security situation in India.

PTO.



Q4) Explain the structure of cooprative credit system. [10]
OR

Explain the impact of machanization on agricultural labour in India.

05) Evaluate the progress of indian agriculture during the period of five year plans.
[10]

OR

Examine the problems of Indian agricultural export.
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M.A. (Part - I) (Semester - II)
ECONOMICS

EC-2004 : Agricultural Economics (Credit System)
(2013 Pattern) (Non-Core Courses) (Optional)
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fepen

g Frren wEtedd e W=

FEl ToAYE@eaTd el ATaTedl YT Tase . [10]

fepen

WRATATA ATEREI URIeret ol .



97 4) WEHR AT HAYREST AT TIE HT. [10]
e
HRATATA ATTRIHIOTE FAHSTSRIA UNUTTH Tt .

Ty7 5) UOdTeh AT HISTHIA WA e ST GeaHTa- . [10]

feman
ARATE IadTe Segeat Hata aaeare aiReror .

[4804] - 2004A 4



Total No. of Questions : 5] SEAT No. :

P2627 [Total No. of Pages : 4
[4804]-2004(B)
M.A. (Part - I) (Semester - II)
ECONOMICS (Optional)
EC-2005 : Industrial Economics
(2013 Pattern)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1)  All questions are compulsory.
2)  All questions carry equal marks.

Q1) Whatis Industrial Economics? Explain the scope and significance of Industrial
Economics. [10]

OR

Explain the problems of public sector industries in India. [10]

Q2) Explain the need for balanced regional development of Industries. What is the
role of SIDC in it? [10]

OR

State and explain the factors influencing location of Industries. [10]

03) What is Industrial productivity? Explain the main elements of Industrial
productivity. [10]

OR

Explain the importance of productivity in the competitive environment. [10]

PTO.



04) Explain the different sources of Industrial Finance. [10]

OR

Explain the needs of foreign capital in India economic development. [10]

05) Evaluate the role of MNCs in India. [10]
OR

Explain the problems of small scale Industries. [10]

[4804] -2004(B) -



Total No. of Questions : 5]

P2627
[4804]-2004(B)
M.A. (Part - I) (Semester - II)
ECONOMICS (Optional)
EC - 2005 : Industrial Economics
(2013 Pattern)

(TSt wUTar)

gz : 3 ara | [ v 7T £ 50
gear : 1) @d Tv7 H1FvISEH STEd.
2) @d TIFI4T THIT YUT IHTEd.

gy7 1)  3ienfirer relvTrer TEUt SR ? 3iTenfiren reivTrermeht et & Wged Tuse &, [10]
TR
WRATAT TTaSIeh ST STN=AT THET T .

Ty72) SURTA Gqieid UEiTes faemmErs et waee war. SIDC <t qfwent wrm.[10]
feRan
IJERTTEAT TATTHRIHIUTER THTE USUTR Teeh T[T o TUSE .

yy7 3) SATENRIeh ScUTgehdl FgUTS Shid ? SATENRIh ScuTgehdd THE Teh T &ir.[10]
feRan

TTHeR ATATAUITATA ScdTaehd<l Hged TU .



Ty7 4) SiteEiies foauRasar fafay & T &,
Teram

WHATAT TR farearmaTdiet tehla WigaeT=it TSt FUee .

97 5) ARATATA SgUEE ShumaTedT e HedawTa .
TeRa
TRATATA oY STRTTAT THET TIE .

[4804] - 2004(B) -4-

[10]

[10]



Total No. of Questions : 5] SEAT No. :

P2628 [Total No. of Pages : 3
[4804]-2004(C)
ML.A. (Part - I) (Semester - II)
ECONOMICS
EC -2006 : Statistical Techniques
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  All questions carry equal marks.
3)  Use of non-programmable calculator is allowed.
4) Symbols have their usual meaning.

Q1) Obtain the arithmetic mean, median and mode for the following frequency

distribution of overtime done by the workers. [10]
Overtime hours No. of workeres

4-8 4

8-12 8

12-16 16

16 -20 18

20-24 20

24 -28 18

OR

Explain any two sampling procedures in details with illustrations.

02) Two dice are rolled simultaneously obtain the probability that [10]
a) Sum of numbers on the uppermost faces is 10
b) Same number on both the dice

c) Number on the first dice is less than that on the second dice.

PTO.



OR

A random sample of 5 families yields the following data :

Family : A B C D E
Savings (S) 6 12 10 7 3
(in th.Rs.)

Income (Y) : 8 11 9 6 6
(in lakhs Rs.)

[10]

Obtain the equation to the line of regression of S on Y and estimate the
savings of a family whose income is 10 lakhs.

03) A certain stimulus administered to each of the 12 patients resulted in the
following increase in blood pressure : 5, 2, 8,-1,3,0,-2, 1,5, 0,4, 6. [10]

Can it be concluded that the stimulus will in general be accompanied by an
increase in blood pressure. Use 5% level of significance.

OR

Write a note on kurtosis.

04) Define the following terms :

a)
b)
c)
d)

Sample space

Sure event

Discrete random varible

Probability distribution of a discrete random variable

OR

Discuss the properties of a good estimator.

[4804] - 2004(C) -

[10]

[10]

[10]



05) The joint probability function for the random variables X and Y is given below
[10]

-1 0 1

1 0.02 |0.18 0.1

2 0.03 |0.18 | 0.09

3 0.04 024 | 0.12

a)  Obtain the marginal probability distributions of X and Y.

b) Are X andY independent? Justify.
OR

What is a time series data? Explain the decomposition of time value into
different components. [10]

[4804] -2004(C) -3-



Total No. of Questions : 5] SEAT No. :

P2629 [Total No. of Pages : 4
[4804]-3001
ML.A. (Part - II) (Semester - I1II)

ECONOMICS
EC-3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.
4) Answer each question in 250 words.

Q1) What is Price Index? Explain the concept of GDP deflator. [10]
OR

What is disposable income? Explain the Relationship between income and
consumption.

02) What is neutrality of Money? Explain classical and Keynesian Approach. [10]
OR

Describe the Keynesian Theory of Employment.

03) How is IS curve derived? [10]
OR

Explain the effects of monetary and Fiscal policy with the help of IS-LM
curve.

PTO.



04) What is marginal efficiency of capital? Explain the determinants of marginal
efficiency of capital. [10]

OR

Explain the Mundel - Fleming model of Open Economy.

05) Explain the uses and importance of National Income Accounting. [10]
OR

Explain the process of Multiplier. What are its limitations?

[4804] - 3001 -2-



Total No. of Questions : 5]

P2629

[4804]-3001
M. A. (Part - II) (Semester - I1I)
ECONOMICS
EC - 3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)
(@ '4ATaR)

gz : 3 ara | [ v 7T £ 50

qgAT -

1) @ yv7 @izar.

2) ITFiEkSicT I® QU JUT FHAAra.
3) 3w 9% T Ege AErFid.

4) wedes TvT 250 Ieqia @iedr.

5) @gytardt gz zust gvaafdwT ugral.

97 1)

g97 2)

97 3)

Torma fd9Tier TEuTel 1 ? o[ VIR Hehieieh €Ut ohl. [10]
feRent

SIIITHFT IcU~ FEUTS 1T ? Icu~ HTIUT IUWAT AT el Tl TIE hl.

YT TEEYAT TEUNS hTd ? AATAETE! AT & hedl ATAT TS eetehle
T . [10]

TR

IS =rswrit fAftt woft ga ? [10]
feRar
AT F TR SR giRomd [S-LM ashiean TgrRaH Tuse &,

-3-



Ty7 4) AT HH HIETHAT FUN h1d ? HiSdeTedl S hiaemad Haies
T . [10]

TeRa
A — FATHT Ia Godl AAHawdd TTaHH Taee .

Ty7 5) U IcUS AWTRAT ST o Wged TIS hl. [10]

TeRan
T[UTERTET TTRAT TASE T, TUTHTSAT HATET hHIUTCAT ?

[4804] - 3001 4.



Total No. of Questions : 5] SEAT No. :

P2629 [Total No. of Pages : 4
[4804]-3001
ML.A. (Part - II) (Semester - I1II)

ECONOMICS
EC-3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.
4) Answer each question in 250 words.

Q1) What is Price Index? Explain the concept of GDP deflator. [10]
OR

What is disposable income? Explain the Relationship between income and
consumption.

02) What is neutrality of Money? Explain classical and Keynesian Approach. [10]
OR

Describe the Keynesian Theory of Employment.

03) How is IS curve derived? [10]
OR

Explain the effects of monetary and Fiscal policy with the help of IS-LM
curve.

PTO.



04) What is marginal efficiency of capital? Explain the determinants of marginal
efficiency of capital. [10]

OR

Explain the Mundel - Fleming model of Open Economy.

05) Explain the uses and importance of National Income Accounting. [10]
OR

Explain the process of Multiplier. What are its limitations?

[4804] - 3001 -2-



Total No. of Questions : 5]

P2629

[4804]-3001
M. A. (Part - II) (Semester - I1I)
ECONOMICS
EC - 3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)
(@ '4ATaR)

gz : 3 ara | [ v 7T £ 50

qgAT -

1) @ yv7 @izar.

2) ITFiEkSicT I® QU JUT FHAAra.
3) 3w 9% T Ege AErFid.

4) wedes TvT 250 Ieqia @iedr.

5) @gytardt gz zust gvaafdwT ugral.

97 1)

g97 2)

97 3)

Torma fd9Tier TEuTel 1 ? o[ VIR Hehieieh €Ut ohl. [10]
feRent

SIIITHFT IcU~ FEUTS 1T ? Icu~ HTIUT IUWAT AT el Tl TIE hl.

YT TEEYAT TEUNS hTd ? AATAETE! AT & hedl ATAT TS eetehle
T . [10]

TR

IS =rswrit fAftt woft ga ? [10]
feRar
AT F TR SR giRomd [S-LM ashiean TgrRaH Tuse &,

-3-



Ty7 4) AT HH HIETHAT FUN h1d ? HiSdeTedl S hiaemad Haies
T . [10]

TeRa
A — FATHT Ia Godl AAHawdd TTaHH Taee .

Ty7 5) U IcUS AWTRAT ST o Wged TIS hl. [10]

TeRan
T[UTERTET TTRAT TASE T, TUTHTSAT HATET hHIUTCAT ?

[4804] - 3001 4.



Total No. of Questions : 5] SEAT No. :

P2629 [Total No. of Pages : 4
[4804]-3001
ML.A. (Part - II) (Semester - I1II)

ECONOMICS
EC-3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.
4) Answer each question in 250 words.

Q1) What is Price Index? Explain the concept of GDP deflator. [10]
OR

What is disposable income? Explain the Relationship between income and
consumption.

02) What is neutrality of Money? Explain classical and Keynesian Approach. [10]
OR

Describe the Keynesian Theory of Employment.

03) How is IS curve derived? [10]
OR

Explain the effects of monetary and Fiscal policy with the help of IS-LM
curve.

PTO.



04) What is marginal efficiency of capital? Explain the determinants of marginal
efficiency of capital. [10]

OR

Explain the Mundel - Fleming model of Open Economy.

05) Explain the uses and importance of National Income Accounting. [10]
OR

Explain the process of Multiplier. What are its limitations?

[4804] - 3001 -2-



Total No. of Questions : 5]

P2629

[4804]-3001
M. A. (Part - II) (Semester - I1I)
ECONOMICS
EC - 3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)
(@ '4ATaR)

gz : 3 ara | [ v 7T £ 50

qgAT -

1) @ yv7 @izar.

2) ITFiEkSicT I® QU JUT FHAAra.
3) 3w 9% T Ege AErFid.

4) wedes TvT 250 Ieqia @iedr.

5) @gytardt gz zust gvaafdwT ugral.

97 1)

g97 2)

97 3)

Torma fd9Tier TEuTel 1 ? o[ VIR Hehieieh €Ut ohl. [10]
feRent

SIIITHFT IcU~ FEUTS 1T ? Icu~ HTIUT IUWAT AT el Tl TIE hl.

YT TEEYAT TEUNS hTd ? AATAETE! AT & hedl ATAT TS eetehle
T . [10]

TR

IS =rswrit fAftt woft ga ? [10]
feRar
AT F TR SR giRomd [S-LM ashiean TgrRaH Tuse &,

-3-



Ty7 4) AT HH HIETHAT FUN h1d ? HiSdeTedl S hiaemad Haies
T . [10]

TeRa
A — FATHT Ia Godl AAHawdd TTaHH Taee .

Ty7 5) U IcUS AWTRAT ST o Wged TIS hl. [10]

TeRan
T[UTERTET TTRAT TASE T, TUTHTSAT HATET hHIUTCAT ?

[4804] - 3001 4.



Total No. of Questions : 5] SEAT No. :

P2629 [Total No. of Pages : 4
[4804]-3001
ML.A. (Part - II) (Semester - I1II)

ECONOMICS
EC-3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.
4) Answer each question in 250 words.

Q1) What is Price Index? Explain the concept of GDP deflator. [10]
OR

What is disposable income? Explain the Relationship between income and
consumption.

02) What is neutrality of Money? Explain classical and Keynesian Approach. [10]
OR

Describe the Keynesian Theory of Employment.

03) How is IS curve derived? [10]
OR

Explain the effects of monetary and Fiscal policy with the help of IS-LM
curve.

PTO.



04) What is marginal efficiency of capital? Explain the determinants of marginal
efficiency of capital. [10]

OR

Explain the Mundel - Fleming model of Open Economy.

05) Explain the uses and importance of National Income Accounting. [10]
OR

Explain the process of Multiplier. What are its limitations?

[4804] - 3001 -2-



Total No. of Questions : 5]

P2629

[4804]-3001
M. A. (Part - II) (Semester - I1I)
ECONOMICS
EC - 3001 : Macro Economics - I (Core Course)

(2013 Pattern) (Credit System)
(@ '4ATaR)

gz : 3 ara | [ v 7T £ 50

qgAT -

1) @ yv7 @izar.

2) ITFiEkSicT I® QU JUT FHAAra.
3) 3w 9% T Ege AErFid.

4) wedes TvT 250 Ieqia @iedr.

5) @gytardt gz zust gvaafdwT ugral.

97 1)

g97 2)

97 3)

Torma fd9Tier TEuTel 1 ? o[ VIR Hehieieh €Ut ohl. [10]
feRent

SIIITHFT IcU~ FEUTS 1T ? Icu~ HTIUT IUWAT AT el Tl TIE hl.

YT TEEYAT TEUNS hTd ? AATAETE! AT & hedl ATAT TS eetehle
T . [10]

TR

IS =rswrit fAftt woft ga ? [10]
feRar
AT F TR SR giRomd [S-LM ashiean TgrRaH Tuse &,

-3-



Ty7 4) AT HH HIETHAT FUN h1d ? HiSdeTedl S hiaemad Haies
T . [10]

TeRa
A — FATHT Ia Godl AAHawdd TTaHH Taee .

Ty7 5) U IcUS AWTRAT ST o Wged TIS hl. [10]

TeRan
T[UTERTET TTRAT TASE T, TUTHTSAT HATET hHIUTCAT ?

[4804] - 3001 4.



Total No. of Questions : 5] SEAT No. :

P2630 [Total No. of Pages : 4
[4804]-3002
ML.A. (Part - II) (Semester - I1II)

ECONOMICS
EC-3002 : Growth and Development - 1

(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.
4) Answer each question in 250 words.

Q1) Explain the characteristics of less developed countries. [10]
OR

Review the problems in defining economic development.

02) What is poverty? Explain the problems in measurement of poverty. [10]
OR

Take the review of contemporary debateron poverty in India.
Q3) Critically examine the theory of Balanced Growth. [10]

OR

Explain the myrdal's theory of process of cumulative causation.

PTO.



04) Explain the theory of demographic transition. [10]
OR

What is Migration? Explain the causes of migration.

05) What is Per Capita Income? Explain the per-capita Income as an index of
development. [10]

OR

Explain the theory of unbalanced growth.

[4804] - 3002 -2-



Total No. of Questions : 5]

P2630
[4804]-3002
M. A. (Part - II) (Semester - I1I)
ECONOMICS
EC-3002 : Growth and Development - 1
(2013 Pattern) (Credit System)

(TSt wUTa)

gz : 3 ara | [ v 7T £ 50
gaar : 1) @d ¥v7 @igar.

2) ITFiEkSicT I® QU JUT FHAAra.

3) 3w 9% T Ege AErFid.

4) yed® ¥v7 250 Irsqra @isar.

5) @gytardt gz zust gvaafdwT ugral.

gy7 1) srcufeehiya o= v Tuse . [10]
TR
i faemar=i =amen A st Jum=aT gurET=n ATeTE =,

Ty72) <GS FEUN hd ? TINGATS HISTHTY HIUATATA THET TUe . [10]
fepen
WRATA A STNSATIINA AT TAHRTATT Tl ATSTaT T4 1.

gy7 3) ‘‘wgtea fawmm’ fasgara feawTenes aiieron . [10]
TR
fireter o= R faeata wUse &,



97 4) ATREEAT WhHUTTET fHeid Tuse . [10]
feRar
TAATAY TEUTSH hTA ? TAATALT=N hRUT TASE hl.

97 5) <XETE Sca TEUTS hid ? ATTIeh farehramen THcyTer Tgu[d gieiE Scd— Tt &,
[10]

TeRa

[4804] - 3002 4.



Total No. of Questions : 5] SEAT No. :

P2631 [Total No. of Pages : 2

[4804]-3003
ML.A. (Part- II) (Semester- I1I)
ECONOMICS
EC-3003:Modern Banking
(2013 Pattern) (Credit System) (Core Course)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answer should be precise and to the point

4) Answer each question in 250 words.

Q1) Explain the role of financial system in economic development. [10]
OR
Explain the balance sheet of a commercial bank.

02) Take areview of changing trends in banking sector since 1991 in India. [10]
OR
State the provisions of the Banking Regulation Act 1949.

03) Explain the nature and significance of Non-banking Financial Institutions in
India. [10]
OR
What is Mutual Fund? Explain the advantages of Mutual Fund.

04) Explain how the recent change in exchange rate affecting Indian economy.[10]
OR
State the need and forms of foreign capital.

05) Explain the impact of Global Financial Crisis-2008 on developing economies.
[10]
OR
Explain the working and role of IMF.

PTO.



Total No. of Questions : 5]

P2631

[4804]-3003
M.A. (Part- II) (Semester- I1I)
ECONOMICS
EC-3003:Modern Banking
(2013 Pattern) (Credit System) (Core Course)

(T3t wUTaR)

g :3 @ | [ ToT 797 £ 50

HAT -

1) &d yy7 @i=ar.

2) 39al &SieT ek AT Ul YT FIIfAAra.
3) 3w Awdl Srrfor geggy r@rEia.

4) ucd® gyara 3wv 250 IrsgTa HETE.

5) @gufars? gz suwt gvIafaeT ugrEl.

97 1)

797 2)

797 3)

97 4)

797 5)

o oTret=h entfdeR farerTaTdiear iHent TUE . [10]
TRt

WRATAA 1991 UTHA=AT Seh SaadT™ QAT SgeArsat Tgren et w@r.[10]
T
1949 <o = =™ fHawA wEETde aigat 9e.

WRATAT Sehw? faia TEUT™ TE AT Agead TE 0. [10]
fepent
TR et g s ? aeR e wee .

TeaTen fAfAHa SoTdier Saet HRA TS TTaeay e UNUTH hitd 31T o ®e &1, [10]
feRar

SmTfaer ferft s1ite -2008 = fereraasiter srdegaeradier uftomm wog wr.[10]
feman
ATARTLE ATV HEATLG AT et Fa= .
1777

-



Total No. of Questions : 5] SEAT No. :

P2632 [Total No. of Pages : 3
[4804]-3004A
ML.A. (Part- II) (Semester- I1I) (Optional)
ECONOMICS

EC-3004:Demography
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks : 50

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point
4) Answer each question in 250 words.

Q1) What is demography? Explain the nature and scope of demography.
OR
Explain the causes of population growth in developing countries.

02) Explain the Malthusian Theory of population.
OR
Explain the Theme of Demographic Transition

03) What is Sex-Ratio? State the factors affecting sex-ratio in India.
OR
What is mortality? Explain the causes of mortality.

04) Explain the factors affecting population distribution.
OR
Explain the National Population Policy: 2000

05) Explain the problems of urbanisation? And suggest the remedies on it.

OR
Explain the Optimum Population Theory.

1777

[10]

[10]

[10]

[10]

[10]

PTO.



Total No. of Questions : 5]

P2632

[4804]-3004A
M.A. (Part- II) (Semester- I1I) (Optional)
ECONOMICS
EC-3004:Demography
(2013 Pattern) (Credit System)
(TS T UTaR)
g :3 @ | [ ToT 797 £ 50
gaar : 1) @ gv7 @isar.
2) 39FIFSIeT e TYATE QO [Or FVfEara.
3) 3™ FPgg ST T sErFia.
4) yd® yv7 250 vrsqra @isal.
5) @gufars? gz suwt gvIafaeT ugrEl.

go7 1) AHREEAT I TEUN HTF ? ATRACATIET FET AT0T vt Tag w6, [10]
fepam
Tererorefter S9TTdter TrehEEaT ATEe SHIRuT FIY .

gy72) Uieuddl drhaean fsgia Ty . [10]
fepam

7 3) E-YEY THTUT FEUS hd ? WRATAA S-J&Y THTUMER TRUTH UMK ¥
T . [10]

E
AT FEUTH h1d ? Aedd<it shul Tq8 hl.



g97 4) ATREEHT faaumer oy Ut uew T .
fepent
T efehaEat fowes aror @ 2000 TIg &,

T97 5) VERIOTAT THET Y e Teiel SUTAEINTT gOaT.

e
At e et T .
17774

[4804]-3004A 3-
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Total No. of Questions : 5] SEAT No. :

P2633 [Total No. of Pages : 4

[4804]-3004B
ML.A. (Part- II) (Semester- I1I)
ECONOMICS (Optional)
EC-3005: World Economy
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Answer should be precise and to the point

4) Answer each question in 250 words.

Q1) Evaluate impact of Globalisation on Indian Economy [10]
OR

Explain features of MNCs and their role in the global economy [10]

Q2) Discuss problems faced by OPEC countries in recent period. [10]
OR

Explain structure and components of global economy. [10]

03) What are the causes for US debt crisis and how it is resolved? [10]
OR

Explain role played by EU in global development. [10]

04) Discuss economic growth model of China [10]
OR

Explain role of BRICS in global development [10]

PTO.



035) Critically evaluate performance and progress of SAARC. [10]
OR

Explain role of Japan in global economy [10]

1777

[4804]-3004B -2-



Total No. of Questions : 5]

P2633

[4804]-3004B
M.A. (Part- II) (Semester- I1I)
ECONOMICS (Optional)
EC-3005: World Economy
(2013 Pattern) (Credit System)
(TS T UTaR)
g :3 @ | [ ToT 797 £ 50
gaar : 1) @ gv7 @isar.
2) 3Iwat HSIT Sk Ul T FIIAAT.
3) 3IW A"SH T FRge H@IHIA.
4) ucd® yv7 250 IrsqTA @iEEr.
5) @gufars? gz suwt gvIafaeT ugrEl.

g7 1)  WTqehl SO WRATE Neaawder Seiedl URumH Jeawmo= &, [10]
Temar
TEYE HUATe AT FIY e Aol ANTANR 7o Sqaedier Yieent .

Ty72) O IcaTee 9 FETaER Quieat duedude eareat anert aat @ [10]
T
SR JTdeaaed=l AT 9 geeh TIY &,

7 3) SR el HeheTd! hIUl TAY Hed o h AISIAA AT@ ¢ o GrM.[10]
e
FATYHT TG TR TIeRTaTaiet YiHehT |,



g7 4) T enfder gedt afoamm=t ==t wa. [10]
feRan
Torarm wrgr=it wmTfaes et iRt wag w6

g7 5) gieron sivraTeht WfoTeR gt HereATAn SR @ W feehteneh geammaa
T [10]

e
ST SRTfeh AAATEIA HIHeAT TIY Tl
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Total No. of Questions : 5] SEAT No. :

P2634 [Total No. of Pages : 4
[4804]-3004C
ML.A. (Part- II) (Semester- I1I)
ECONOMICS
EC-3006 : Economics of Finance
(2013 Pattern) (Credit System)
Time : 3 Hours] [Maximum Marks : 50

Instructions to the candidates:

1)
2)
3)
4)
3)
6)

Attempt all questions.

Figures to the right indicate full marks.
Answer should be precise and to the point
Answer each question in 250 words.

Draw neat diagrams wherever necessary
Use of nonscientific Calculator is allowed.

Q1) Explain the role of interest rates, present and future value of income.  [10]

OR

Explain the functions of financial markets.

02) Explain the concepts of Debt Market, Equity Market and Financial Service
Market. [10]

OR

Explain the capital Market and International financial Instruments.

03) Explain Arbitrage Pricing Theory and its Significance [10]

OR

Explain the concept of protfolio and the role of capital Asset Pricing Model.

PTO.



04) What is Future Market and Explain the risks in future market. [10]
OR

Explain the difference between Financial Futures and commodity futures.

05) What is option market? Give types of options used in the market. [10]
OR

Explain the role of financial sector in an economy.
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Total No. of Questions : 5]

P2634

g :3 @ |

qgeAar : 1)
2)
3)
4)
5)
6)

[4804]-3004C
M.A. (Part- II) (Semester- I1I)
ECONOMICS
EC-3006 : Economics of Finance
(2013 Pattern) (Credit System) )

(T3t wUTaR)

e TvT @IEl.

ITAIHSIT S TIATE GUT T FIAATIA.
IT Fegg ST i SrErFia.

g gvT 250 vreeTa @isal.

HTTYTEH 79 HATHIT HIET.

TFYTqI3t ges 3T IvAqidenT wgrar.

[ T&or 77 : 50

gg7 1) SATNIER ITUATA TAUT AT Vet Hed ATt ST T . [10]

ferert

IENIERC ISR RCIE s ic T

go72) WS aR, THURT SR AT o et aR a1 dehedn T8 &, [10]

fepent

HIETA AR ATV ATAWEA Taia ee T8 &4

g97 3) 9uA (Arbitrage) fohua faregia Tag o @@ wg™ |@I.

fepent

[10]



97 4) o SR TEU S d AR Wi STRIAe Gk U8 . [10]
femar
ot wiersyr anifor g wiesy aTdiel wees T98 .

gy7 5) U STIR TEUTS Sh1d ? W1 SO STHeel Jatet aTerre Yok | [10]
TeRan
rdeTaEddier foxia e iRt TaE .
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Total No. of Questions : 5] SEAT No. :

P2635 [Total No. of Pages : 4

[4804]-4001
ML.A. (Part- II) (Semester-1V)
ECONOMICS
EC-4001 : Macro Economics -I11
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answer should be precise and to the point

4) Answer each question in 250 words.

Q1) Explain fully the Gurley and Shaw hypothesis of liquidity [10]
OR

Describe in detail the Keynesian theory of demand for money.

02) What is money multiplier? Explain the process of money multiplier. [10]
OR

Critically examine the Wicksellian theory of interest rate.

03) Explain fully the trends in money supply in India. [10]
OR

Take a detailed review of the Cambridge Cash Balance approach to demand
for money.

04) Define Monetary Policy and describe the goals of monetary policy. [10]
OR

What is High Powered Money? Explain the factors affecting high powered
money.

PTO.



035) Explain the concept of cost-push inflation. [10]
OR

Explain the role of interest rate in macro economy.
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Total No. of Questions : 5]

P2635

g :3 @ |

2)
3)
4)
5)

48041-4001
ML.A. (Part- II) (Semester-1V)
ECONOMICS
EC-4001 : Macro Economics - 11
(2013 Pattern) (Credit System)

(T3t wUTaR)

I TIT STAVAHE ST
ITAIHSIT S gul qUT FIIAAra.
IR FTHT T FRgE SArdia.

gedes gearet 250 Ireqra IR [oigT.
TFYTqI3t ges 3T IvAqidenT wgrar.

[ T&or 77 : 50

g7 1) T SATTUT I TS U@d YTEdeh Ao T &

YITT=AT HRTUNAT el ATt fHegiara afaeay Jui & .

ferert

g7 2) OET U TEUN A ? O Ut OishaT TUE WA

T97 3) HRATAA IITEAT YRASATAA Tgeiia Aoy Ta{SeRuT .

fepent

fepent

[10]

[10]

[10]

Yyrrean ATUiiEaT i tra- g gismTen Ao smeran =@



97 4) T fawaes diRomst et dag geHtauas SR €93 FuiE &, [10]
e
SH-VIhT THT TEUTS 1T ? IT-ITxh! U9ITeR TUTTH ShIUTR Teh TIY .

gy7 5) WA-gE HTEATE g Hehoudl T . [10]
TR
RYE STUTaIdie SATSEd! Y{HehT T HT.
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Total No. of Questions : 5] SEAT No. :

P2636 [Total No. of Pages : 3

[4804]-4002
ML.A. (Part-II) (Semester - 1V)
ECONOMICS
EC -4002 : Growth and Development - 11
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answer should be precised and to the point.

4) Answer each question in 250 words.

Q1) Explain the role of Agriculture in economic development. [10]
OR
Explain in detail the role of Fiscal policy in developing countries.

02) Discuss the importance of industrialization in the economic development.[10]
OR
Explain the arguments for infant industry in detail.

Q3) Discuss trade as an engine of growth. [10]
OR
Explain the role of markets in the developmental process.

04) Explain the role of IMF in the economic development. [10]
OR
Evaluate the performance of MNREGA in India.

05) Explain interrelation between inflation and growth. [10]
OR

Discuss the various measures of poverty alleviation.

1777
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Total No. of Questions : 5]

P2636

g :3 @ |
;1)

2)
3)
4)
5)

[4804]-4002
ML.A. (Part- II) (Semester - IV)
ECONOMICS
EC -4002 : Growth and Development - 11
(2013 Pattern) (Credit System)

(T3t wUTaR)

[ T&or 77 : 50

Td gvT @igar.
ITAIHSIT S gul qUT FIIAAra.
IR FTHT T JTaE HETIAIA.
gedw 97 250 vregia @isdr.
TFYTqI3t ges 3T IvAqidenT wgrar.

97 1)

797 2)

797 3)

Tfeeh foreRT T er St HIHeRT TUE .

TorerameTier QoITdier TeTehisar eRoTTeit YienT Afeem faorg .

ferert

arfeien T sitenfrheRtumer Hgea aTer Tt .

fepent

FTAETeAT  FHeIATY IRhaTg Afaem U &0.

TR ¥ g R o1 arer w=t .

fepent

T ufshadier s Yieem foerg .

[10]

[10]

[10]



97 4) sntde femETder starrga Aot i e w5

femar
YRATATA AT SRR Yo .

97 5) TAAdTE AT Jedt ATiel UREuREsel TIY .

T
TgaHeA fawge fafay suraaiemr a=t .
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Total No. of Questions : 5] SEAT No. :

P2637 [Total No. of Pages : 4

[4804]-4003
ML.A. (Part- II) (Semester-1V)
ECONOMICS
EC-4003 : Research Methodology
(2013 Pattern) (Credit System) (Core Course)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answer should be precise and to the point

Q1) Explain the objectives and Limitations of social research. [10]
OR

Explain the stages involved in designing research. [10]

02) What is secondary data? Explain the sources of secondary data. [10]
OR

What is sampling technique? Explain the types of samples. [10]

03) Explain the merits and demerits of Mean and Median. [10]
OR

What is Hypothesis testing? Explain the Process of hypothesis testing. [10]

04) Explain the importance and sources of global information. [10]
OR

What is power point presentation? Explain the process and importance of
power point presentation. [10]

PTO.



05) State and explain the advantages and disadvantages of Histrorical Method.[10]
OR

Explain the stages of report writing. [10]
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Total No. of Questions : 5]

P2637

[4804]-4003
ML.A. (Part- II) (Semester-1V)
ECONOMICS
EC-4003 : Research Methodology
(2013 Pattern) (Credit System) (Core Course)

(T3t wUTaR)

g :3 @ | [ ToT 797 £ 50

gear : 1) @& 97T TavEE HTEA.
2) IwHImSIeT & gul U FIifaard.
3) 3™ AWl T Feage H@rEia.
4) wgufare? gz TSt gvIafaeT ugrEl.

gg7 1)  EHINTeR EYEETH 3hgy oArfur waier w9 o,
fepent
HINYT ARTEST dIR FOATATA 2 T H.

97 2) TEAM A TEUN 1A ? GEEH ALATE WA €L .
Tera
T faE a9 RN & ? AT Hade TR Y w61

¥y7 3) WER STMUT AL AT YUT T EW TAY HA.
e

TfEaeRT= TTevlt TEuT ST ? fgaentean A=t Tihar TUg .

[10]

[10]

[10]

[10]

[10]

[10]



g97 4) WTideR Wil Wged SATUT &a TIE . [10]

feman
UTeR UTge USievT TgUTS R ? UTaR Uige TSIevril UfshaT SATIUT Hged TUE .
[10]
To7 5) Ut usgde W 9 A G [10]
Teman
HINGT STEATA AT UTI=AT T . [10]
7777
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Total No. of Questions : 5] SEAT No. :

P2638 [Total No. of Pages : 3

[4804]-4004A
ML.A. (Part- II) (Semester-1V)
ECONOMICS
EC-4004 : Rural Development
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) Explain the objectives and importance of Rural Development [10]
OR
Explain the Role of Infrastructure in Rural Development

02) Explain the causes and remedies of Rural Unemployment. [10]
OR
Explain the need for food security.

03) Explain the objectives and nature of IRDP. [10]
OR
Explain the causes of Rural Poverty.

04) Explain the role of Agro-Based Industries in Rural Development. [10]
OR
Explain the features of Rural Economy.

05) Explain the causes of Rural Indebtedness. [10]
OR
Explain the nature and causes of Inequalities in Rural India.

17774
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Total No. of Questions : 5]

P2638

g :3 @ |
qgaqr ;1)
2)
3)
4)
5)

[4804]-4004A
ML.A. (Part- II) (Semester-1V)
ECONOMICS
EC-4004 : Rural Development
(2013 Pattern) (Credit System)

(T3t wUTaR)

Td gvT @S STavaeE .
ITAIHSIT S gul qUT FIIAAra.
IT aiSFITT T PG H@TII.
yeda gyara 3¢ 250 vreaTa Ha.
TFYTqI3t ges 3T IvAqidenT wgrar.

[ T&or 77 : 50

go7 1) urur foesrarh sfessr enfor ugea wow =0,

wrioT Rt uransmEre gl it ferg w0

fepent

¥y7 2) UTHIUT SRt SR F IUTH TIE AT

fepent

HAAGRE TS FAE .

[10]

[10]

g97 3) Uehticedes uTHIoT forehma shdshuT=n SfEsRl orTfuT Tawg Taw @, [10]

ferent

IO STt wRut v w5,



yT 4) UwHOT T hEt STATA ST T T .

feRan
YTHOT SrefeTaEd=t afsTeRr Tuw .

Ty7 5) UTHIUT ShSETSTRIYUTTEN R0 fa9rg .

TeRan
PTHIUT ARATATA TEATAS T (0T HROT T .
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Total No. of Questions : 5] SEAT No. :

P2639 [Total No. of Pages : 3

[4804]-4004B
ML.A. (Part- IT) (Semester-1V)
ECONOMICS

EC-4005 : Economics of Environment
(2013 Pattern) (Credit System)

Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answers should be precise and to the point

4) Draw neat diagrams wherever necessary.

Q1) Define economics of environment? Discuss its scope, nature and significance.[10]
OR
How the concept of common property is used in economics of envioronment?
Substantiate with examples.

02) What is water pollution? Discuss methods to control water pollution in India.[10]
OR
Explain effects of climate change and global warming on the economy.

03) Whatare the causes and effects of depletion of Forests in developing countries?[10]
OR
Explain concept of Natural Farming with its advantages.

04) Explain various laws for Environment Protection in India. [10]
OR
Discuss role of private sector firms in protection of environment in India.

05) Write anote on the use of Cost-Benefit Analysis for Environment Management.
[10]

OR
Explain the role of environmental education in protecting the environment.

17774
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Total No. of Questions : 5]

P2639

[4804]-4004B
ML.A. (Part- IT) (Semester-1V)
ECONOMICS

EC-4005 : Economics of Environment
(2013 Pattern) (Credit System)

(T3t wUTaR)

g :3 @ | [ ToT 797 £ 50

HAT -

1) @ o7 srasaes oimgd.

2) IwHImSIeT & gul U FIifaard.

3) 3w FA"SH T PG H@IEIA.

4) @gurars? gz syl gvaafasr ugral.

97 1)

797 2)

797 3)

‘IR SIS’ IqTet SATEAT 37 AT SATHI Ta&T o Hged T 1. 10]
fepam

“HTHTITeR ATeTHTEN Hehe =T TATauT JTATTETT Il aTuletl JTd o ISTEUIEE

Y .

T TGUUT FEU T ? WRATA T TTSIguuT Trguareat gegdiet vt ot [10]
e

AT FATH dged ATV aTed WRTTdeh dTquT= el gIUTR TRy g

.

Tereramiter Sommeie ST femmm=ht % ror @ uftom st sga ? [10]
fepent



g97 4) URATdA ggierun wRerume fafay wee e w0, [10]
TeRan
WRATAT WISH 85 GEATSAT GITauT S0 Heffer TgWHIm=i =<l .

g97 5) ‘TE-dY dedrat UIiEdul SHEaETaTd e aTo ATl S g [10]

e
TATERUT TITETUTTet UATeRuT FRETUTTATST SfehT |

17774
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Total No. of Questions : 5] SEAT No. :

P2640 [Total No. of Pages : 2

[4804]-4004C
ML.A. (Part - II) (Semester- 1V)
ECONOMICS
EC-4006: Econometrics

(2013 Pattern) (Credit Sysem)
Time : 3 Hours] [Maximum Marks : 50
Instructions to the candidates:
1) Attempt all questions.
2)  All questions carry equal marks.
3)  Use of non-programmable calculator is allowed.
4) Symbols have their usual meaning.

Q1) Explain the concept of population regression function and its stochastic
specification. Also explain the concept of linearity of the function in variables
and linearity in parameters with suitable illustrations. [10]

OR

Explain the nature of multi-collinearity and its practical consequences.

0?2) Estimate the demand function Y = & + X for the following data and interpret

the coefficients: [10]
Price (X): S 6 7 8 9 11
Demand (Y): 12 17 19 24 30 29
OR

Explain with illustration how dummy variable is used in combining cross
sectional and time series data.

03) Explain the concept of multiple regression, Multiple correlation coefficient
and partial correlation coefficient with one illustration each. [10]

OR

Obtain the reduced form equations for the following demand and supply
function and comment on their identifiability.

Demand function: Q, =, + P + o1, +u,,,cx, <0,0t, >0

PTO.



Supply function: Q, =B, +B,P, +u,,,p, >0

Where I= Income of the consumer and is exogenous. Price P and quantity Q
are endogenous variables.

04) Explain the difference between ordinary least squares method (OLS) and
generalized least squares method (GLS). Also explain the consequences of
using OLS in presence of heteroscedasticity. [10]

OR

Explain the nature of autocorrelation and sources of autocorrelation.

05) a) Explain confidence interval approach to hypothesis testing. [5]
b) State the assumptions of the ordinary least squares method. [5]
OR

a) Explain the concept of stationary and nonstationary stochastic processes.
Aslo discuss the methods for transforming nonstationary stochastic
processes in to stationary processes.

[5+5=10]
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